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Note:- You have four choices for each objective type question as A, B, C and D. The cheice which you think is correct;

fill that circle in front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles

will result in zero mark in that question. Write PAPER CODE, which is printed on this question paper, on the both

sides of the ‘Answer Sheet and fill bubbles accordingly, otherwise the student will be responsible for the situation.
Use of ink remover or white correcting fluid Is not allowed.
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QUESTIONS

(D) (C) (B) (A) : Q-1
a%+p? - 4ab 4ab 2(a + b?) (a+bl-(a-b2=? 1
2(a? + b3 4ab a’ + b? -4ab @+bl+(a-b?=% 2
g bt 2 KJJ/:/LL:V_C 3
3 -2 1 0 : Ay, 1 v
A linear polynomial is'of degree =
3 2 1 0 I - ton ¥ l}’;/:/&-u »| 4
) A guadratic polynomial is of degree =
y " ; 5 S EPL LS frowens| 5
The number of methods to find LCM are
‘J':J Ly -'-I-‘Lf/?.; -'-"L’Uu Cfclv(ffuf:.«»“J a#0 yax+b=0z=hl-| 6
Constant Solution In\équality Linear iR Ju{ﬂ/;"' x.ufd.;lﬁd;‘?bzsfa.?.-r_
equation An equation that can be written inthe form ax +b =0, @ = 0
where a and b are conslants and x is variable is called
u\ﬁ—‘ S ..':-J;Lf/:,; =il - L}kaa_/r.:qt‘:/»;rph'/ﬁ:.fu 7
: ; ; Any value of the variable which makes the
Constant Solution Inequality Equation equation a true statement is called the
3x - 2% 2x2 - 3 x@x-3) | 0 Factorization of 2x* - 3x is -« G4 2¢-3x | 8
L3 - i
2,8 (6.2} 6.2 ¥ (0,4 : e SE (x- 20 =4 9
: Solution set of (x - 2)° = 4is
A g T s b Lt 6 | 10
Scalar matrix | Identity matrix | Column matri_:_cv' " Row matrix |A matrix consisting of one row is called a
3x3 =4 2x2 =p L‘J.f/J’° = -Un uﬁuj Znurd L8 i 11
Order 3x3 | The order 2x2 | The different order | The same order | Two matrices are conformable for addition if they are of
2oliasle st RS | b e 3600 fiie 180° S il | 12
; ‘An angle containing more than 180° and less
Acute angle | Straight angle | Obtuse angle | Reflex angle than 360° is called
a -Ltjﬁ)fﬂ.J{Jﬁ&—JLﬂwhﬁ 13
3 2 1 (5 ; . _ ™
The number of medians in a triangle is
2 l xf x b l x£ xb £xb Area of a triangle is T KJ'F/ 14
3 2 :
Lﬁ;.rl; BB 557 iy o [ et M o Sr g LA 15
Four points Two points Zero A unique paint | In the plane with every ordered pair is associated
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Part I Jsl -
Answer briefly any SIX parts from the followings:- 6x2=12 -q&)’aywﬂé 1z & ‘:.J:(:_.;,):'-'JJ Lo -2
If P(x) = x* + 3x* - 5x + 9, then find P(x) for x = 1 e P x=19xPx)=x* +3x2-5x + 9.1 (i)
Solve using formula (x + 2y) + (x - 2y)2 (x + 23«)2 +(x - 2;#)2 -L_,jf.f:_ 24 JL:’;G (i)
Factorize ax+ay-x’-xy  -Z5(§7 (iv) & Simplify 4+/50 ++/200 +v50 _ s~ (i)
Resolve into factors x° + 9x + 20 &-k.J~2121 (vi) Factorize X’ +2xy +y*-a* .2L¢4 (v)
Find HCF 8xy’2® | 12x%y%2 8xy’2®, 12Xy’ e Pk (i)
Find LCM 21a’x%y, 35a%%y , 28a’xy? 21a'%’y , 35a°%y, 2833xy2w4/r:h‘gﬁ bl (viii)
What is meant by HCF. N2 __U’; (ﬁjbl; (ix)
Answer briefly any SIX parts from the followings:- 6x2=12" -g/};’.p;u/-‘?é 12 & .::..ch..u:czibn -3
Solve  3(2x + 5) =25 -x s/ (i) Solve 5x -6 = 4x -2 EZL )
Solve X+ 4x-77=0 ZES ) Solve Ix -3 = 4 AL i)
Solve (2x +3) (x-2)=0 2x+3)(x-2)=0 -y S ()
Write the names of methods to solve Quadratic Equation. _"dgrtc': URPL S S I miseGsss (vi)
Define Non Singular Matrix. -/ 2§ J6ut Z  (viii) Define Scalar Matrix. -/ it/ J6 A (vii)
5 2 2 5 2 2
ind AB if 4= , B2 A= , B=|° i
Find AB if [3 4] [3] [3 4] [3] Syl AB (ix)
-y
Answer briefly any SIX parts from the followings:- 6x2=12 -L{&fagm‘/"ﬁlZl Z c.(jfc:.. gﬂg_b{w) -4
Define vertical angles. -uj/u_l_a..@/?d'";;l)gb (ii) Define adjacent Angles. ..u:’ﬁ.._qu'JA_._:UJ-ﬂ" (i)
Define parallel lines. Sl P eB S0 (i)
Draw a circle with centre O and radius 5 cm. 5 2555l oS kS Zbo s LT (iv)
Define tangent to the circle. —c e UKL (V)

The sides of a right triangle are 5 cm and 12 cm. Find the S A ET12.8 2758 w0 L Sl A6 L (vi)

hypotenuse. -/ [Sa?)
If the legs of a right triangle are 2ab and a’ - b®, prove that b Fusa’ - b% sl 2ab s L s 246 /1 (vii)
the hypotenuse is a° + b’ - a’+b’ VRS NE A

Find the distance between the pairs of points (7 , -2) , (-2 , 3) (7.-2),(-2,3) -;,5/ (:‘V.Lali u_l.mf. blﬁd’j G (viil)
Describe the location of the point on the number plane (-8, -8 ) (-8,-8) -d_f;lﬁuf GG (ix)
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Note: Attempt any three questions. Each Question carries 08 marks

Find the value of a> + b% + ¢?if a+b+c =6 and
ab+bc+ca=11

Factorize x° + y°

Find H.C.F by division method.

-3 -x+1,xt -2 + 2x-1

Solve and check VX¥+5+7=0

Solve by completing the square method. 2x* - 6x+3 =0

Construct a square whose one side is 5cm,

1 5{b| |35
If13 41717 |10 | then find the value of a and b.

Use Cramer’s rule to solve the simultaneous equations.
2x+y=1 , Sx+3y=2

The diagonal of a square is 14 cm. Find its area.

Show that the points A(0 , -3), B(0 , 7) and C(5¥3 , 2)

are of an equilateral triangle.

1024 1010

Ma+b+c=6L25ed a2 +b?+ 2015
ab+bc+ca=11
X +y° -.Ec.{df (&)
e 3 2L £ OLe
X -x-x+1,x -2+ 2x- 1
54720 _Sifeym g S (D
22 -6x+3=0 S S 3)LErJE OLT
KT SU RN bl i ()
wnmtsonns]) T e
SIS oA 3 )E S (L)
2x+y=1 , 5x+3y=2
LI U EF 14568, 0L
L C(5V3,2) 5B, 7)A©, -3) 5655 St (&)
S ULl 2B e Sl
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Note:- You have four choices

(r)) () Fdz
<o 20 =y
A2l L Iy w2d

Use of ink remover or white correcting fluid is not allowed.

(D) (C) (B) (A) . QUESTIONS Q-1
a’+b? - 4ab 4ab 2(a® + b?) (a+b)’-(a-b)*= 1
a’+p’® (@a-b)° (a+b)® a’-b® (a+b)(a’-ab+b%= 2

a -a 1 0 -EnP@)7n /26 P(x)ex-a | 3
If x - a is a factor of P(x), then P(a) =
@+1)@+1) | (a+1)@™1) | (a-1)(@%+1) (@1)(a+1)(a*+1) | Fastorization of a* - 1 is e i a1 4
i 2
4p’q 4pq 4p%Q? 4pq? - /"i;wmpq:ap q| 5
H.C.F of 12pq , 8p’q is
{5,3) {-5,3} {5, -3} {5,-8) |Solutionof|x-1)=4is -« crf¥x-1=4| 6
3 bt | e dillze e - JJ;;US.::/U: 7
Equal to Less than or | Greater than Lessthan [Symbol < stands for
equal to or equal to
1} {#3} {1 {1} Solution of x*-1=0is . 2r f¥x¥-1=0| 8
- t‘n.;:-uif’:.-bl»dygﬂf""—ﬁ 9
1 | 2 1] : Co ) . -
A linear equation in one variable is of degree
5 A 5 2 ~F AL 5t 6 G5~ | 10
In a unit matrix diagonal elements are
EAE Sedids | e AT e b Lt S| 11
Scalar matrix | Identity matrix { Column matrix Row matrix |A matrix consisting of one row is called
360° 270° 180° 90° - Ered §upi b [ 12
Sum of the angles of a triangle is
4 B LA Fri bk o é&g Sl edk| 13
Non-concurrent|  Collinear Concurrent |The médi’h‘ns‘g'f a triangle are
.\;.:: s it e > F
p 2 - 2 G Al & e
Volume of a cube ge ¢ is
i s -
2 Yol BA BA2E - LU = Gy zbci| 15
; . Points which do not lie%i' he##Same straight
Zero Equal Collinear Non collinear line are called Fe

1025-1019- 22000 (1)
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Part I st -
Answer briefly any SIX parts from the followings:- 6x2=12 .._;{/;f)’au.i:/ﬂé IZl & :.ch_ u.'.J_’J Cn 22
Define a pure surd. -SSP Fa)
Sc-5d Sc—5d G
Reduce to lowest terms 72 2 a? Edert PuiAZ i)
Simpifty 450 +200 +/50 C 4/50+4200+450 _, o2 g -
Factorize 8 -4a-3a”+a* " ' 8-4a-3a’+a* .y $f (iv)
What is meant by zeros of a polynomial. ‘e e L & (v)
Factorize a°-b*-a+b a’-b*-a+b ..V:fdf.- (vi)
Define the highest common factor. -u_'/ - /JJ (pi 2k (vii)
Find L.C.M. by factorization x’yz , xy’z , xyz’ yz . xy’z , xyz? -q/ri'-”dgl b2 $E w5 (vill)
Find the square root by factorization 49x* + 112xy + 64y? 49x* + 112xy + 64y° _‘_)_')}}”;jg S5 (ix)

Answer briefly any SIX parts from the followings:- 6x2=12 ..q&/’auzﬁ.ﬁfz! £ .:_df;.ut g!’,i 6;: -3

1 1
Solve 3x+§=2—x 3I+-5'——~2—I -szl)’ (i)
Solve Vx+1=3 Ax+1=3 _g S )
11 _ 11 )

Solve the inequality 3% > (*~1) 35> 70Dy P e iy
Define Quadratic Equation. SISV IPE et Bsss (iv)
Solve by factorization 5x = x* + 6 - 5x=x’+6 -qudf.:uJ_u (v)
Write down the Quadratic Formula . UKL S et G (vi)
Define Zero Matrix. : S BFEIRG e (v

a b ' i a b ..
If A= ¢ a| then find the additive inverse of A LG AT A= e d A (viii)

1 . 12 .

M= [3 ﬂ then find M’ LM I M = [3 4] A1 (ix)
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< 'Answer briefly any SIX parts from the followings:- 6x2=12 -‘[&fabwﬁﬁlzl £ a.dfa_u‘:gbb.u -4

Find the angle 'x' in given figure. ¥ R Fde W
¢ sc° N
< 7
Define circle. ,qfuy ..ny-fu (iii) Define obtuse angle. _g:“f._,_a,r/-'lf,_.,u.g)?‘ (ii)
Define medians of a triangle. Sl S g Laks (iv)
Define Perpendicular bisectors of a triangle. - lpYe Lt l sl (v)
Write the formula to find the Area of triangle. kLS 3Kk (i)
Find the hypotenuse of a right isosceles triangle whose | g -qfr;lvdy EnL el A5 AV UT (vid)
legs are 8 cm. \ -:fr"BJl,«'JC]}-}Z.
Locate (4 , -2) in the co-ordinate plane. _u_‘):fiﬂgdﬁ*d:.c’f (4, -2) (viii)
Define the Non-Collinear points. -l A2 (iX)
Part II (2 -~

. A8 L Jrs JSferlciirfe $id

Note: Attempt any three questions. Each Question carries 08 marks

I . i Lag. ]
If — :\ﬁﬁ*‘3, then find the value =d S (P-=) i (P+=) 3 —=+1043 fiOL5
p p p P
1 l -
of (P+=) and (P—=)’ e
p p
64p° 64p’ g
Factorize 1"";130“ 1~ qf -f‘f—fdf (&)
Find H.C.F by division method. e+ 1, edex+t gl e 3pl S O) 6
Find the square root X+ y2+ 2%+ 2xy + 2yz + 22x L ()
Solve 10x? - 5x = 15 by Quadratic formula. S KEnnd 102 -5x=15 QL7
Construct a square whose each side is of 5 cm length. T 5E K ekl ()
2 6 -1 -3 t .t - -1 -3 2 6
If A= ,B= hen verify (AB)! = B'A!  (AB)'=B'A' &£ =it Jx B= ‘A= OLs
[7 s] [2 0]'enve"f“ : aEl i B 78
Use Cramer's rule to solve the simultaneous Uhans Ja S-S umesnc 3L 40 (L)
equations. Give the reason if solution is not possible. 2x + y =1 3
= 5x + 3y = 2 "7
2x + y =1 y
5x + 3y = 2
Find the area of right triangle whose two sides are - 35 120U L > 25 50 K adb oM 245 O)9

12 cm and 35 cm.

Show that the points A(2 , 4), B(6, 2) and C(4 , 3) are collinear. SUIbB B AC(4, 3) 1 BB, 2)¢A2, 4) 45 ek (L)

1026 -101s- 22000



